%ﬂﬁ?ﬁ?ﬁ?ﬂﬁ*& R5 - 15 ARI5EAA5 R

(BB - S Fn54E3 A 28 B ~4fu54E4H 3RH) F AR PEERBR S

B
VU E it o B L, BEIBHTIZ50~ AV (BTREV10~A/V 8 MEICHo TR EER: ) . B 7 IRt
TIX75 AN (RREV 30~ ANEER) FHEIZH > TIELLBERIL TS,
REARIL, B#REIZ20C~22CH, LEBRERIZ18~21°CHT, 1VED I THRBL T\,
BEBCOEOBER AR, 138 (BFBIFM) 1320. 0°C. 125 (HxMH) iX20. 1°C. 105 (ZEF1RH) X
20. 4 CTh-oT~,

M

Yo\ (LI 28080) ¢« EFIRED (Bl - =75 NER) O - S8k EITF L, HEEK~25%
=P80, 6b (1 H 1Y 72026ke) . A VA0. 4brDABIT,

TN AW (Z898) « TEBOZEENIKET L,

V2 (RS- IER) © EFIRE ORI, NES~39% 1V 43. 3k (FI84kg) . BV #
0. 2~ DKBTF, BEiIABIT 2L, TEBRIEORERIL, FE~T4E1Y40. 1M (F2ke) , BV
b FENDOKBT, EEA~18E VA1, Obv (F60ke) . BV 40. 7h (F135kg) DARIT, BIZIREL D,
WBRIT. TEBAN10ED YA 1. Obv ([F1100kg) . V%0, 2R (Rl24kg) DT, NSV, E
DOBEEIIARBITRL, PEOFHE~6EHYF23. 5h (3, 901ke) . B F0. 1hDABT, AfL~14%
JYA27. Obv (1, 928kg) , %0, 2b DAKBHT, EE~16% 4450, 6b (F3, 159kg) , B> #
0. 5ShDAREBIT, T D HEE K ~128 4416, 3k (A1, 364kg) . BV Z0. 2R DAET, KBS
DIIABT L, IR~ IEERIL, FIHAN1EXANY () 28K, BV (FR) 494, WO EFEIARD
KBT,

AV (RAER) . RIBIERID DAY X, T/INL~126822#130. 6 (A1, 037kg) DABITF, L
el K ~215% 205201, 3hv (R936kg) DAKBIT,

VIR (NoTFME) . HEBEOITRRIT, BEORE~11287. 0b (1 H 1#E%472062ke) DABIT, HE
DFEREFET~2%0. 3t ([F1132kg) DAZS, $H~17#4. 2b (F1250kg) DAKBT, IO BEHITA
BiFieL,

VATEEXER . HEBOVATEEIERIL. FREA~TEL (T3, 5h (1 H1EY7-0482ke) DAEIT, EHE
~1£0. 2hDKBIT,

ANVA T o BN (B DGR » TAEIEK) DAV A HIRITAR BT 2L,

REEBME © ERFIERH(SHE) DRAERILS5. 5k, ARRITIL. 7V (V) 1, 6184, 7Y (AP
%) 2, 6364, =70, Thr . Y1, 7R, $TUF0. The, $RTFHHO. 5k, </ T 0. 4bAdk
BT, B2 EERB(2HE) ORIEERIT56. 3k, ARERITIX. 7V (FURK) 1654, 7V (APu#k) 7634,
<=7 V8. 1hv, 2 ¥ES3. 5h A F0. SR, Y750, 4b, AP THHO. St kBT,

HEIFEEE  BERATOPRFESEROBIERIT, 348£168. 5h (1 H 1#H =05, Oh) , BEFITIX.
<N T P48, Obv, =T V5. 6hv, /B4, 8hy, WILALTL 9, AR WEIF AT 14, TRARDKE
i

T
L3
BalL, RIEBRHILEELHEE ] EFIRMILIRVEER | THBLZD,
REKIRIL, TEERFBILTOLHED | THEBLE), (FHEE: HEERFR19°CHRTY)

[ RfE#]
ZHEIR(BA25H~3H31H)TIX. H<YMT83. Oh (Y3%H40. 4bhy, =740, 1h, BEIFATY
1. 4h> | AVH0. 5h 270, Bh, ANVALHO. 2h4h) DAET, EBMET43. Oh (T (FVUHK) 4, 60274,
TV(OFHHR) 1, 524K, =T T1. 8bi, AT FA0. 9h, =& A0. 3ho . Y3HO. 2h4h) DAKBIT,
EIFR(3A23H~3HA290) Tik, XM TH9. 2~k (AT P59, 2h) DABT, EEMETTV (FU#)
1, 204KRDOKET, Ry FHTTTR11. b DOXET,
FIFILUR (BH17H~3H23H) TiX, £E/T28. 3hy (819, 2h, =/LTY9. OhAh) DABT, B8
T1L. 4b (A9, b, Bv 1. 9b FF0. 280) OKBT, 7Sy F BT IR, 2 DABT,



= = | 3 T T —T = TR,
R 132° Et},j”"' & 133 134° 135° IRRIE AP
P2 F m K A
A B OR (3H28H~4H3H)
e B kiR
HENESR Nod 4/2~4/3 17 z _g_g E
g e e P Ny 4
,,..%Iﬁiﬁ*_d: EXto% — (\/ 2 | = | @&
} 17\ ¢ 20 18 11|05 #
15 2 1.1 )
Y 18 =P s
33° |
19 2
291031501 &
‘21 = =1 ]
21 231021500
= = 7K
H
10101177 &
= | = #
#
2 N % | % | 175 7
22 == "
=
L1104 =
= [}
0103 F
s | & |57 s
7y
’1 191011504 1
== =1
= ™ \ 31° |
o o5 Mgy ELL 13|07 102
% Bl BE OB R = | & | 204 = 4y
IR - IR | ! | | il
25 45 65;8 132
SRR OB 041011550
1 | | B & =%




BEBRIRES SETHAR 2023437288 ~ 20235 4F 3R
. o~ B 1H1& p2X i 5 #
(X A 3/28 | 3/29 | 3/30 | 3/31 | 4/1 4/2 | 4/3 | @it RES (A4 [[(BiK. BER)
A v R — — — — — - — — -
G 0% 0
H N VA SR — — — — — — — - — IVHNEYY R Y
(F F) 08 *n ~
A 3B SR — — — — — — — — - TN ([RYN — b
(hOFEsR) 0% 0 ~
A i B g 0.0 0.1 0.3 02| — 0o — 0.6 bV 263 IYNEY e —
G& k) 4 6 8 4 3 25 & ¥0| 290 ~ 549 ||nhvt 0.4 tv
LA | SHE g — — — — — — — — - Fn - b
(F &) 0% 0 2417y — v
hvFt BB SHE — — — — — — — - b - ] - b
G)) 0% *0 ERD) —
hvFt BB g 0.8 0.7 0.5 08| — 05 — 33ty 84 ] 0.2ty
(hOtEsR) 8 11 13 5 2 39 € 0 ERD) —
huA B 13 g 0.0 0.1 0.0 0of — 0o — 0.1 by 2 ] 0.0 tv
(F 1k) 13 15 17 14 15 74 & 0 ERD) —
huA B i3 SHE — 0.2 0.5 03[ — — — 1.0 by 60 VATl  ([£v4 0.7 by
(tk &) 4 9 5 18 & *0[ 444 ~ 505 |37 — b
huA B 18 BHE 04 02 0.1 03[ — — — 1.0 by 100|AVAFy  |E'Vs 0.2ty
G& K) 3 2 2 3 10 £ %0l 523 ~ 770 |j337 —
hvFt = #® EHR — — — — — — — — b — ] - b
GREM) G 08 0 ERD) — b
huA £ g 0.2 24 28] — — 141 40( 235ty 3,901 ] 0.1 by
(GREMm) (F %) 1 1 1 2 1 6 & 0 ERD) — b
HhUF £ 8 A L 40 3.6 5.6 6.3 38 — 37 270ty 1,928|hVAFy  ||E'Vh 0.2ty
GREM) 2 2 3 3 2 2 14 € *0| 326 ~ 618 |37 — b
hvt =8 g — 10.3 64 67 — 10.2| 17.0] 506 kv 3,159 s 05 kv
GBEM) (£ &) 2 2 2 5 5 16 & %0 Emb] — b
HhuFt =H BHE 3.2 3.3 4.1 42 — — 15 16.3 by 1,364|hVAFY  |E'V 0.2 tv
GREM) (& K) 2 2 3 3 2 12 € ¥0| 248 ~ 527 |37 —
hvA =8 AR — — — — — — — — b - [z — b
(KAL) (k&) 08 *n Emb) —
hoFt =8 AR — — — — — — — — b — E'v4 — b
(K& ) (& K) 08 %0 Emb] — b
Evs L= BHE — 0.3 0.3 o1 — — — 0.7 bv 35 hyx 10 by
£ &) 4 9 5 18 & %0 Emb] - b
Evs L R 0.1 0.0 0.0 o1 — — — 0.2 tv 24 hyA 1.0 by
& K) 3 2 2 3 10 & %0 Emb] — b
337 B i g — — — — — — — -t — hy# - b
(B @) 08 0 [ — b
E=Ly) B i R — — — — — — — — b - hy# -t
(hN%ESR) 08 *n (%S — b
337 L= g — — — — — — — — b - hy# 0.1ty
(F 1k) 0% 0 ] 0.0 tv
337 L SR — — — — — — — — b - hy# 1.0 bV
(k&) 0% 0 ] 0.7 by
337 L AR — — — — — — — — b — hy# 1.0 bV
G& K) 0% 0 ] 0.2 by
AT BB AR 333 354 356 263 — — — | 1306 tv 1,037
(F/hniL) 31 33 32 30 126 £ 0| 150 ~ 177
AT BB AR 59.1( 633 675 114 — — — | 2013ty 936
G& k) 64 67 68 16 215 € +n| 146 ~ 170

FD 2~




REBEAESE (x02) EEHHAM 2023%E3H28H ~ 20234F4A3H
78 sk - ) BEE (LB EKBER(TE) 1H1E faf 5 &
(X D) 3/28 | 3/29 | 3/30 | 3/31 | 4/1 | 4/2 | 4/3 | Bt BEE | (AN (R BER)
D5R | INyFHE 7z = 18 10[ 09| 07 1.1 = 15 7.0 bv 62
20 19 20 18 18 17 112 # *n| 869 ~ 1200
D5R | INyFHE ZEPHT - - — — 01| — 0.2 0.3 v 132
1 1 2 # *n| 583 ~ 1046
DSR | INyFHE i @ 15 19| o8] — — — — 42 +v 250
6 6 5 17 # #0[1125 ~ 1130
SR | Sy FiE =yl — — — - — - — — b -
(E%F/) 0 ## 0 ~
45 FEH =gl 12| 09 09 00 00 -— 05 35 by 482
(F #) 1 1 2 1 1 1 7E *n
D2 FEH =gl — 02| — — — — — 02 v 200
(& &) 1 1€ *n| 215 ~ 215
AL A B & EHR — — — — — — — — b -
17 (hnsESER) 08 0 ~
AILA B & EHE — — — — — — — — -
A4h G& X) 0E *n
AL A ®' 8 EEHR — — — — — — — — b —
17 (B @) 0E 0
BEYD[ E 8 BHE gaehya| Fng | YE | ANF | AT | bk | BV REE 1€ [1854Y
TR (B @) — 2| — — — 49 1 52 & | 52 K
EEH X e 7 A8 | 7Y | YNEE | 490 | A | hESF &t S5 A% |20t 5 74k 1,618 &
B X | TER 3 KEL 119 144] 07 17| — — — 355+ | 6 HFE 6.8 by  |AV Ok 2,636 &
EEH X % % 7 A8 | 7Y | YNEE | 490 | A | hEsF a5t £ R [T Ot 5 74k 165 &
B X | TER 2 K& 12 22| 81 35 — — — 56.3 bv | 6 HFE 43 |2k 763 &
F=EW kA ILBE WUTY T TV | YNEE | 49 | A | haYF 34 # |14y | T Ot F
B X | F=8 B % 480| — 56| 848 — 94| 14.7| 1685 v 5.0k 6.2 by

M—1:8ELL.

r0.0by ] : 2 0kg Ll _E50kg R .

roxoy:1H1&€/RES0kgll L05kgR i




